Ununnpuljubph pudwinidp/duu 3

Cwiwnhy
Cwjmwnpwn

Ununnpulp Ukl niph §nunnpuljh pudwitibjhu unnwugynid E dh jnunnpuly,
nph hwdwphsp hwjwuwp E pudwtbjhh hwdwphsh b pudwbwpuph
huwyinwpuph wpiwgpyuhl, huly huppnupupp pudwibihh hwpnwpuph
U pmdwbiwpuph hwdwphsh wpunwungpuht:

6 7 6 3 63 18
B :5=5 7w %
Unwgwunpuuputn

e Yuwuwuwpbkp ynuinnpuljubph puwdwbinud:

6 5

— . =6/14 x 28/5 = 168/70 =24/10
14 28

12 11 =12/5x 10111 = 120/55 =24/11
5 10

@:i 50/9 x 27/6 = 1350/54 = 675/27
9 27

4 16

. 4/35x25/16 =100/560 =20/112
35 25

15 20

—~ .27 15/16 x 28/20 =420/325 =84/65
16 28

30 10

—:—  =30/18 x 36/10 =1080/180 =216/36
18 36

e Juuuwpkp pudwnid:

Ophuwly

34—33
'3 T4 4



50:@ =50x17/100=1x17/2=17/2

17

4
16: 4—5 =16 x 45/4 = 4x45/1 = 180/1 = 180

18
18: — =18x12/18 =12
12

36
6:— =6 x25/36 =1 x 25/6 = 25/6

25
e Juuuwpbkp pudwinid
Ophtuly

4_3_4.3_4_1_ .
9°"" 91 9 3 o
18

m:18 18 x 115/18 = 115

4

E36 =4/18 :6/1=4/18 x 1/6 = 2/18 x 1/3 = 2/54 = 1/27

3

gl 10 =3/8:10/1=3/8x1/10 = 3/80

3
—-18 =3/25:18/1=3/25x 1/18 = 1/25 x 1/6 = 1/150

25

o Uuwnnuihph thnjuwpbu iy phy gpbne nlypnud juinwgyh
hwuwuwpnipjnii:

e Ophiuuly

153 155 75 25
513" 18

16 348 16

10 30
— = — =30/42:10:14 =30/42 x 14/10 =3/3x1/1=3/3 =1

14 472

24 48
— - x= —  =48/22:24/11 =48/22 x 11/24 =2/2x 11 =2/2 =1
11 22



e Qunbp wjt phyp, nph
Ophtwly’

J %—pr} dwup hwjwuwp L %

31 3, 12
—i-=-4=—=3:
474 4 4

6 3 = N = = =
o S pyuwup hwdwuwp k2 3/8 :6/5 = 3/8 x 5/6 = 1/8 x 5/2 = 5/16

4 8 _ . — = = -
o Ipnuwup hunjuwp k2 =87 47 =87 xTi4 =201 x 11220122



